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(mm) | (om) [ (mm) | (mm) | (mm) (m®) (m®) (m®) (m?) (m?) (m?)
B300—h300 300 300 1000 | 1325 1150 0.581 0500 | 0.548H 4.209 2119 | 3578H
B400—h400 400 400 | 1100 1375| 1200 0.725 0550 | 0.587H 4971 2230 | 3.690H
B500—h500 500 500 | 1200 | 1425 | 1250 0.877 0.600 | 0.626H 5753 2342 | 3801H
B600—h600 600 600 | 1300 | 1475 | 1300 1.036 0.650 | 0.665H 6.426 2454 | 3913H
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(mm) | (mm) | (mm) | (mm) | (mm) (m3) (m3) (m3) (m?) (m?) (m?)
B300—h300 300 300 | 1000 | 1325| 1150 0581 0215 | 0548H 4209 0822 | 3578H
B400—h400 400 400 1100 1375 1200 0.725 0.237 0.587H 4971 0.861 3.690H
B500—h500 500 500 | 1200 | 1425 | 1250 0877 0.258 | 0.626H 5753 0.900 | 3.801H
B600—h600 600 600 1300 1475 1300 1.036 0.280 0.665H 6.426 0.939 3.913H




